\/U/&#VWJ Vom F amh K pncen
% (9(%1 )
sy (e &) ) v/ﬂ.ij

bt ; m{(b@:c)) ¢ ol
‘E,B, 4194&[3(“9))*/2










v

v -4 (

2 x+3)






/P// Ny~

D

-



Tﬂ?moww%'t . Sy K Tremnde




//( 0 i

2\
Katha


















')oo [d’o 60" 904) X






5//\;@%/5 = g7g,m»mﬂ
s S (nrcus)

6o’ |T/3 =/
Jo/ | /2 A6
130° (M=3/4

g ‘00 Z‘T: 6'72/4

























= a /fo’xJ)z—\' be—2 &403&/

T *\-qléonb/f'

2 —
= a“/] *‘)1’Zf\46w3
= a" vbh— la\‘/:o (S % .




A‘v(a&% i < 'erarowef




v‘cgv\'ﬁm\
YIA(OL«L/’>,_

(DS
! "N & )\.\(}

(03 (>
(s )’ | (0()(‘77//\)
=7 elraft s ¢ ey (~<) 55l)
/Qvuja L

= ) wr(()
> ("“’(Q :g\f;"){o((-‘) .f?\,\/ﬂ)









